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UNIT - I (PROSE)
Answer the following in a word/phrase/sentence each. (5x1=5)
Mention one of Bruce Lee’s professions.

The Tawaifs are also known as
The article ‘The Diaspora Men' was published in
In what does Indian society embedded, according to the lesson, ‘Prospects

of Democracy?’
Name any one force that according to Narayana Murthy, reshapes our world?

Answer any FIVE of the following in about 150 words each.

(5x5=25)
How does the author Pramod Kumar compare slave labour and indentured

labour?
Write a short note on the interesting circumstances of the birth of Bruce Lee -

in America.
How did the colonial mores change the life of the tawaifs in 1920s? Explain.

Explain Dr Ambedkar’s idea of society.
How according to Mr. Murthy, has Information Technology helped in

designing customer-friendly goods?
Explain how Bollywood reduced the life of tawaifs into stereotypes of

immoral women?
Examine Ambedkar’s ambiguous position on Education’s ability to end class

system.
UNIT - II (POETRY)

Answer the following in a word/phrase/sentence each.
‘That my days have been a dream’. What incident transpired in the poet’s

life, that makes the poet question that his days have been nothing but a

(5x1=5)

dream?

What does the poet Raymond Garfield urge the slave?

What is the mask a symbol of in the poem, ‘We Wear the Mask?’

How is love presented in the poem, 'The Unquiet Grave?’

“Each of the house is a village”. What is the figure of speech used in these

lines?
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Answer any FOUR of the following in @ (4x5=20)

‘For the Dispossessed.

Explain with reference to the poem, d 'the grains of golden

- d shore’, an

Explain the symbols of the ‘surf-tormented Sh hin A Dream.’
\ n '
sand’ with reference to the poem, ‘A Dream Wl.t .l he lover and the young
Comment on the conversation between the spirit of the
man in the poem, The Unquiet Grave.’ d to save or heal
The poem, ‘We Wear the Mask’, has an appeal to the Lor
?

the ‘tortured souls.’ Explain the agony of the speaker? - d death
Write the relation drawn by the poet between existence, sacrifice an
with reference to the life of the slave in the poem,” Time to Die. ,
Comment on the idea of death being a stepping stone for the slave’s

“children’s children” to cross upon, according to the poem, “Time to Die.

UNIT - III (SHORT - STORY)
Answer any THREE of the following in about 150 words each:
(3x5=15)

Comment on the king's semi-barbaric form of justice in the story, “The Lady
or the Tiger?’

What role did the public play as spectators in the theatre of justice?

What change did the fifteen years of confinement bring to the life and
thoughts of the old banker? Explain in the context of the short story, “The
Bet.”

How did the renunciation note of the prisoner affect the banker?

Write a short note on the discussion between the banker and his friends that
leads to the bet,

UNIT - IV (Grammar and Writing Skills)
Read the following passage carefully and write a precis of the same.

decently and sitting properly. These virtues are not easy to be imbibed, Only

he who himself leads a life of simplicity, purity and rigid discipline can

Successfully cultivate these habits in his pupils. Besides a teacher always
old in age, but i

despair.
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Choose appropriate words from the given list and fill in the blanks.
(5x1=5)
It'was coincidence that we were both on the same train that day. My
friend Mr. Hemanth comes from a community of weavers in
southern Maharashtra. He is interested in folk culture. Folk culture

'refers to elements of everyday life in traditional, localized people that are
Immediately recognizable as belonging to that culture. The conveyance of a
sense of place is important in folk culture; even when these elements appear in
other regions or cultures, they still retain the identity of their founding culture.
Our discussion soon turned to the topic of corruption that was
destroying our economy and the decline of morality in public life.
(sure, steady, sheer, close-knit, very, overt, chance, rampant, prominent,
worthy)

Choose appropriate phrasal verbs from the given list and fill in the

blanks. (5x1=5)
See if you can rework your schedule and practical ways to reduce the
number of hours you're on call.

If they don't pay, they could be of the house.

Can you for me on the conference call? I have to leave early today
for a doctor’s appointment.

Please , so that the people at the back of the room can hear you.
The air craft is due to at mid night.

(turn out, help out, fill in, speak up, come up with, take off, speak out, come
out)

Fill in the blanks with appropriate tense forms of verbs given.

(5x1=5)
One quality that (help) students succeed in their studies is self-
discipline. It (be) particularly important in college. I (learn)

a great deal about self-discipline by observing my friend Emma. I have noted
that Emma plans her time every night before she (go) to bed. By
having a time table and sticking to it, she (be) always able to
accomplish a lot more than I can.

Read the following context carefully and write a report in about 200

words. (1x5=5)
The HR manager, Mr Neeraj Gupta of Arcelor Steel Pvt Ltd with its corporate
office in Delhi has requested you to make a study of irregular attendance of
contract wage workers of the company. Most of the workers are migrants from
states like Bihar, Orissa and Jharkhand. The company claims that the wages

paid to the workers are quite competitive compared to other companies in the
same sector.

Read the following context carefully and write minutes of the meeting
in about 200 words. (1x5=5)

The office bearers of District cooperative bank consisting of the Chairman and
four directors have a meeting to discuss the poor performance of the bank due
to lockdown and other measures introduced by the government. The meeting

lasts for one and a half hours with many suggestions made for improving the
banks performance.
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UNIT - I (Prose)
Answer any ONE of the following in about 100-150 words:
Who was J H Wright? How is he associated with Vivekananda?

(1x5=5)

How was Vivekananda different from others in his address? What was the

reaction to his speech? ) _
‘Indians are not a nation; they are only an amorphous mass of people’ Explain.

Answer any TWO of the following in about 200-250 words (2x10=20)

each:
What aspects of Vivekananda’s character are revealed in his journey to the

West?
From the various personal experiences of Dorothy L Sayers, write down the

various ways by which both fact and opinion can be distorted.

According to Dorothy L Sayers, what is ‘The Freedom of the Press’?

What is the impression Tagore has on freedom after he visits the West? Explain.
UNIT - II (Poetry)

Answer any FOUR of the following in about 100-150 words each:
(4x5=20)

According to the poet when should we keep calm?
What is the poet’s message in the poem IF? Do you agree with it?’

According to the speaker, who is likely to count success as sweetest? Do you
think the poet is accurate in describing the feelings of people who fail?
How would you define success in your own words?

According to Rydyard Kipling, how should a person develop humility in life?

UNIT - III (Novel)
Answer the following in a sentence or two each: (5x1=5)

Who is given in charge of the Muslim properties?

Who was Meet Singh?

Why does the village decide to stand by their Muslim neighbors?
Who was Lala Ram Lal? How did he die?

Who was Hukum Chand?

Answer any TWO of the following in about 300 words each:  (5x2= 10)

Why do some of the villagers agree to attack the train in the novel ‘Tarin to
Pakistan'?
Describe the town of Mano Majra at the beginning of the book.

Describe Meet Singh's appearance.

Explain Igbal's belief on the population of India, and on the money spent on
agriculture and industry.
Contd...2
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Answer any ONE of the following in about 200-250 words each.( 1x1°=1°)4
The people of Mano Majra are indifferent to violence and mdlfft‘aren.t to the
sufferings of other people. Explain with reference to the novel ‘Train to
Pakistan’. . .
What is the implication of focusing on a predominantly Sikh village, ratimr thar
a Muslim or Hindu one? Also, how might the novel be different if it was a story
about a “Train to India"? s
How does Kushwant Singh depict religious conflicts between Hindus, Sikhs and
Muslims in the novel * Train to Pakistan’ ?
UNIT - 1V
(Grammar and Writing Skills)

Write a dialogue between two friends discussing their career in TEN
turns each: (1x10=10)

Read the following passage and answer the questions given below

(5x1=5)
Mount Vesuvius, a volcano located between the ancient Italian cities of Pompeii
and Herculaneum, has received much attention because of its frequent and

destructive eruptions. The most famous of these eruptions occurred in A.D. 79.

The volcano had been inactive for centuries. There was little warning of the
coming eruption, although one account unearthed by archaeologists says that a
hard rain and a strong wind had disturbed the celestial calm during the
preceding night. Early the next morning, the volcano poured a huge river of

molten rock down upon Herculaneum, completely burying the city and filling the
harbor with coagulated lava.

Meanwhile, on the other side of the mountain, cinders, stone and ash rained
down on Pompeii. Sparks from the burning ash ignited the combustible rooftops
quickly. Large portions of the city were destroyed in the conflagration. Fire,
however, was not the only cause of destruction. Poisonous sulfuric gases

saturated the air. These heavy gases were not buoyant in the atmosphere and
therefore sank toward the earth and suffocated people.

Over the years, excavations of Pompeli and Herculaneum have revealed a great
deal about the behavior of the volcano. By analyzing data, much as a zoologist
dissects an animal specimen, scientists have concluded that the eruption
changed large portions of the area’s geography. For instance, it turned the
Sarno River from its course and raised the level of the beach along the Bay of
Naples. Meteorologists studying these events have also concluded that Vesuvius
caused a huge tidal wave that affected the world’s climate.

In addition to making these investigations, archaeologists have been able to
study the skeletons of victims by using distilled water to wash away the volcanic
ash. By strengthening the brittle bones with acrylic paint, scientists have been
able to examine the skeletons and draw conclusions about the diet and habits of
the residents. Finally, the excavations at both Pompeii and Herculaneum have
yielded many examples of classical art, such as jewelry made of bronze, which
is an alloy of copper and tin. The eruption of Mount Vesuvius and its tragic
consequences have provided everyone with a wealth of data about the effects
that volcanoes can have on the surrounding area. Today, volcanologists can

locate and predict eruptions, saving lives and preventing the destruction of
other cities and cultures.

a) Herculaneum and its harbor were buried under lava.
i) liquid ii) solid iii) flowing  iv)gas
Contd...3
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b) The poisonous gases were not in the air.
i) able to float i) visible iii) able to evaporate
iv) invisible v) able to condense

c) Scientists analyzed data about Vesuvius in the same way that a zoologist
a specimen.
i) describes in detail ii) studies by cutting apart
iii) photographs iv) chart

d) _____ have concluded that the volcanic eruption caused a tidal wave.
i) Scientists who study oceans ii)Scientists who study atmospheric conditions
iii) Scientists who study ash iv)Scientists who study animal behaviour

e) Scientists have used water to wash away volcanic ash from the
skeletons of victims.
i) bottled ii) volcanic iii)purified

iv) sea v) fountain

C. Give ONE WORD SUBSTITUTION for the following choosing from the
words given in bracket: (5x1=5)
(Extravagant, Simile, Antiquarian, Metaphor, Cram, Pram, Wreath, Crown)

a) A man who waste his money on luxury
b) A person interested in collecting, studying and selling of old things

c) A figure of speech by which a thing is spoken of as being that which it only
resembles
d) A four-wheeled carriage for a baby, pushed by a person on foot

e) A decorative ring of flowers and leaves

D. Fill in the blanks with appropriate CLICHES given in the brackets :
(5x1=5)
(jump through hoops, sets the bar high, butterflies in her stomach, gold
standard, made my day)
a) She always has before a test.

b) The fraternity had their pledges in order to prove their loyalty

c) I hear that the new restaurant around the corner really for exquisite
seafood.

d) Personal handwritten thank- you’s remain the of courtesy in the age of
cellphones, computers, and instant messages.

e) Getting an A on my test

E. In order to promote reading habits in the students, your college has
organised a Library Week. You are Ranjan/Reena. You have to speak in
the morning assembly and inform the students about the week-long
programme. Write your speech in 150-200 words.

You have noted the following points: (1x5=5)
o days and dates
« new arrivals displayed
o exhibition of books by some publishers
o famous authors, I poets to visit and interact with students
e quizzes and competitions
« more facilities in the library

e new teenage magazines
kKKK KRKKEKkKXK
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I.  Répondez aux questions 1x10 =10
1. Comment s’appelle le premier film de science-fiction?

2. Quel pays est appelé comme le berceau du cinema?

3. Comment s'appellent les fréres lumiéres?

4. Guernica est la peinture de qui?

5. Le prix national de France le Cesars est organisé en quel mois?

6. Frangois Truffaut a regu le César du meilleur réalisateur pour quel film?

7. Luc Besson est 4ssocié au quel mouvement cinématographique?

8. Qui est l'actrice principale du film Amélie?
9. Qui a écrit le roman 'The Hunchback of Notre Dame'?
10. Les Destinées est I'ceuvre de qui?

Il.  Répondez aux 4 questions en 5-6 lignes
Que savez vous de la création du trophée César.
Ecrivez d’un realisateur francais célebre.

Rédigez des idees clés du movement Nouveau Reéalisme
Résumez le film Jean de Florette

Ecrivez d’un acteur ou actrice célébre frangais(e)
Quelles sont les contributions des fréres Lumieres au cinéma du monde?

4 x5=20

NNk LN =

Il Répondez aux 2 questions en 10 lignes
Que savez-vous de la Nouvelle Vague? Ex
Expliquez I’histoire du cinéma frangais,

Qu'est-ce que le mouvement du romantisme littérair
et leurs ceuvres.

2x10=20
pliquez avec ses caracteristiques et des exemples.

W

e? expliquer avec les principaux auteurs

IV.  Complétez aux temps convenables

Ix5=5
+ Sinous mangions moins nous ........... ... (€tre) en forme.
. (Avoir)

mieux faire s’j] voulait.
............... (ne pas sortir).

[ N S
e
[
£
~
8]
o
=
<
e.
=

............... (avoir) les cheveux longs.

V. Mettez le texte au passé compose

5
La directrice de I’école autorise ’or

idées aux éleves. Charlie
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VI. Rapporter des Paroles
1. Alain me demande : 'Veux-tu me préter to
=> Alain m'a demandé ,
2. Elle leur precise: ‘Je partirai par le train de 18 heures. '
=>Elle leur precise qu’elle ............cccovvvvee par le train de 18.
3. Elle nous assure: ‘Vous aurez moins de travail.’
=>Elle nous assure que............. moins de travail.

4. Vous annoncez: ‘Ma fille va se marier en Angleterre’
en Angleterre.

n stylo 7' \

= >vous annoncez que votre fille............
3 i 5 )
5. Nous leur confirmons: Lucie arrivera & 8 heures chez vous.
=>Nous leur confirmons que Lucie ............... a 8 heures chez eux.

VII. Complétez en conjuguant au subjonctif 1x5 =5

Pourvu que nous n’(arriver) -=-=----=-u-- pas trop tard!

Tu feras des exercices jusqu’a ce que tu (comprendre) ------===-====-- ta legon.

J’ai acheté de la farine pour que vous (pouvoir) ----=-==---=--- faire un gateau.

C’est dommage que ton fils ----------- te voir cette année. (ne pas venir)

Nous nous levons si tard le matin qu’il arrive que nous (manquer) --------- le petit-
déjeuner.

ol ol N

VIII. DIALOGUE 10

Vous devez faire une activité originale (promenade a cheval, tour sur les montagnes etc).
Mais deux entre vous ne sont pas d’accord.
Ou

Un(e) ami(e) est parti(e) seul(e) en vacances dans un pays étrangére. Elle devait rentrer il y
a trois jours. Vous n’arrivez pas a avoir de ses nouvelles.

IX. LETTRE
Décrivez une féte indienne ou une féte francaise 10
X. COMPREHENSION 10

Delhi, le 12 avril 2020

Chere Pauline.
Comment ¢a va ? Je vais bien et mes études vont commencer bientdt. Dans cette lettre. je vais
te parler de I'enseignement indien.
L'enseignement en Inde est gratuit, public et obligatoire jusqu'a 14 ans. Il est divisé en trois
dégrés : primaire. secondaire et supérieur. Au primaire dégré, l'enfant peut commencer son
parcours scolaires des I'dge de 2 ans jusqu'a 6 ans avec l'école maternelle, ensuite I'école pri-
maire de 6 ans jusqu'a 10 ans. A I'école secondaire, I'enfant entre en High School a I'4ge de
IT a 15 ans, apres avoir passé l'examen du certificat de I'école secondaire . L'enfant entre en
Higher Secondary School (lle et 12e classe) a I'dge de 15 & 17 ans. Enfin I'enseignement
supérieur, qui ouvre la porte du collége et de I'école professionnelle apres
avoir passé¢ l'examen de 'Higher Secondary'. Au collége, on a des choix entre les Arts et les
Sciences et a I'école professionnelle aprés un concours pour 4-5 ans.
Quand est-ce que tes études vont commencer ? Explique-moi, le systéme éducatif en France.
J'attends pour ta réponse.

Contd...3
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Cher Ali,

Paris, le 19 mai 2020
Comment vas-tu ? Je vais bien ici et mes études ont déja commencé. Dans cette lettre, je vais te
décrire 'enseignement frangais.
L'enseignement en France est un peu différent de celui en Inde. Il est aussi gratuit, public et
obligatoire jusqu'a 16 ans. L'enseignement frangais est divisé en trois dégrés : primaire, secon-
daire et supérieur. Au primaire dégré. I'enfant peut commencer son parcours scolaires dés I'age
de 2 ans jusqu'a 6 ans avec I'école maternelle. Ensuite, I'école primaire de 6 ans jusqu'a 11 ans.
A l'enseignement secondaire, l'enfant entre au collége de 11 & 15 ans et puis au lycée a I'age
de 15 a 18 ans aprés avoir obtenu le dipléme de Brevet en lequel I'enfant a le choix entre le
lycée général ou le lycée professionnel. A la fin. I'enseignement supérieur aprés avoir passé le
Baccalauréat qui ouvre la porte de I'Université. Apres le Bac, on peut choisir la formation pro-
fessionnelle, les études de technologie, les lettres, les sciences humains ete.
Donne mes salutations a tes parents !
Amitiée,
Pauline

Répondez aux questions.

1. A quel 4ge l'enfant commence son parcours scolaire en Inde ?
Jusqu'a quel age l'enseignement en France et en Inde est obiigatoire ?
L'enseignement frangais est divisé en combien de niveaux ?

Qu'est-ce que c'est 'Higher Secondary' en Inde et ‘le Bac' en France ?
Dites vrai ou faux.

N

Le systéme scolaire de France et celui de I'Inde sont pareilles.
On ne peut pas entrer a I'université frangaise sans avoir passé le Bac.

En Inde pour entrer au collége, on a besoin du certificat de l'école secondaire.
Ali et Pauline sont les camarades.

Trouvez dans le texte.
9. La forme nominale du verbe 'enseigner’

10. La forme verbale du nom 'la fin'
ok o ok ok ok ok ok ok o ok ok
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12,
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15,

PART -A

HUMAN RIGHTS
Answer the following in one sentence each. (1x5=5)

Define Human Rights.

Expand UDHR.

What is the significance of 10t December?
Expand ICESCR.

Name the monthly Journal published by PUCL.

. Answer any ONE of the following in 8-10 sentences each (5x1=5)

Discuss the role of students in promoting human Rights.

Jamlo Madkam, a 12 year old migrant labourer who was working in chilli field
in Telangna died of exhaustion and dehydration 50 km away from her village
after walking for 3 days, during the lockdown of pandemic. Jamlo and other
migrant labourers decided to walk towards their home town as all modes of
transport were closed and restriction were imposed during lockdown period in
April 2020.

i) Under which classification of human Rights does the above case of

Jamlo can be addressed? (1)

ii)  Was there any state intervention as a remedy to this case? 1)

iii) What means do you suggest to provide justice to Jamlo? (3)
Answer any ONE of the following in 15-20 sentences each. (10x1=10)
Explain the classification of Human Rights.
Explain the powers and functions of Amnesty International.
Answer any ONE of the following in 30-35 sentences each. (15x1=15)
Examine the Human Rights enshrined in the UDHR.
Explain the powers and functions of NHRC.

PART - B

VALUE EDUCATION

3

Answer any ONE of the following in not less than a page. (5x1=5)
Write a note on preparation for marriage.

What are the characteristics of a functional Family? Discuss.

Answer any ONE of the following in not less than two pages. (10x1=10)
Examine the values, which will help in building a healthy family.

Explain the Temporary Methods of family planning.

ko ok o o ok ok ok oK ok
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SECTION - A
Answer any FIVE of the following.
1. What is ‘default’ in the purchase system?
a) Pass the journal entry under Debtors Method.

« Goods supplied from H.O.
gn branch, current asset is converted at the opening rate -

(5x2=10)

b) Ir: case of forei
True or False?
What is IFRS?
What is invoice price?

What do you mean by Recoupment of short workings?
Differentiate between dependant and independent branches.
State any 2 objectives of the accounting standards board.

N w AW

SECTION - B

Answer any FOUR of the following.
8. On 1% April, 2018 Mr. Abhay purchased a washing machine from Girija Enterprises

(4x12=48)

on hire purchase basis. The cash price of the machine was ¥ 25,000 payable

Z 5,000 on signing the agreement and the balance in 4 instaliments of ¥ 5,000

plus interest at 5%. p.a. payable on 315t March each year. Mr. Abhay writes off
depreciation at 10% p.a. on diminishing value of the machine.
Show the Washing Machine A/c and Girija Enterprises A/c in the books of Mr.

Abhay.
9. What is the purposé of Accounting Standard? Elaborate on the need for and

benefits of the Accounting Standards.

10. A Kolkata firm whose accounting year ends on 31% December has branches - one
at Agra and the other at Varanasi. The Branches keep a complete set of books 31%
March, 2011. The Agra and Varanasi Branch Account or the Kolkata books showed
balances of Z 30,450 and ¥ 45,000 respectively before taking the following

information account:
(a) Goods valued ¥ 2,000 were transferred from Agra to Varanasi under

instruction the Head Office.
(b) The Agra Branch collected 2,500 from an Agra customer of the Head Office.

(c) The Varanasi Branch paid ¥ 5,000 for certain goods purchased by the Head

Office in Varanasi
Contd...2
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29t March, 2011 received
(d) 2 5,000 remitted by the Agra Branch to Kolkata on ! o

in Kolkata on 3rd April
(e) The Varanasi Branch received on behalf of th
from Varanasi Company. For the year 2010-11, the Agra

of ¥ 1, 250 and the Varanasi Branch a net profit of ¥ 5,400.
e matters in the Head Office books, and Agra

e Head Office ¥ 1,500 as dividend .
Branch showed a net loss e

Pass Journal entries to record thes
Branch.

Coal Co. Ltd., acquired on lease a coal mine at a royalty of 50 paise per ton of
brought onto the surface with a minimum rent of ¥ 56,000 p.a. with no right to
recover shortworkings except in case of strike. \
10% of the coal taken out from the mine is lost in weight in bringing the coal onto

the surface. Coal Co. Ltd., took out the coal from the mine as under.

1 st year - 20,000 tons

2 nd year - 80,000 tons

3 rd year - 1,20,000 tons

4 th year - 1,70,000 tons

5 th year - 80,000 tons ( strike)

Prepare Ledger Accounts in the books of Coal Co. Ltd.

coal

a) What are hire charges? Explain the major differences between Hire Purchase
and Instaliment System.

b) What are the advantages of the IFRS? Explain the applicability of IFRS to
Financial Statements.

Give Journal Entries for the following transactions in the books Delhi head office
and Kanpur branch.

i) Goods sent by the head office on 28th March worth ¥ 150 to its Kanpur branch
not received the branch up to 31st March

ii) Goods sent by Mumbai branch to Kanpur branch for ¥ 300 are yet to be
recorded.

iii) Kanpur branch paid ¥ 3,000 for a machine purchased by the head office in
Kanpur.

iv) Provide depreciation at 10% on furniture (2 20, 000) when Kanpur branch
account maintained in the Head Office books.

v) A remittance of ¥ 8,500 made by Kanpur Branch to the head office on 28th
March was aired by the latter on 4th April

vi) Mumbai branch paid ¥ 100 dividend to a local shareholder on behalf of the
head office

vii) The Kanpur branch collected ¥ 72,000 from a Kanpur customer of head office.

Contd...3
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SECTION - C
Answer any TWOof the following. (2x16=32)
14. An Indian company has a branch at Washihgton. Its Trial Balance an on

September, 2011 is as follows:

Particulars Dr. Cr.
Us $ Us $

Plant and machinery 1,20,000 -
Furniture and fixtures 8000 =
Stock on Oct 1,2010 56,000 -
Purchases 2,40,000 -
Sales - 4,16,000
Goods from Indian Co. (H.0) 80,000 -
Wages 2,000 -
Carriage inward 1,000 -
Salaries 6000 -
Rent, Rates and Taxes 2,000 -
Insurance 1,000 -
Trade Expenses 1,000 -
Head Office A/C - 1,14,000
Trade Debtors 24,000 -
Trade Creditors - 17,000
Cash at Bank 5,000 -
Cash in hand 1,000 -

5,47,000 | 5,47,000

Following further information is given:
1. Wages outstanding $ 1,000
2. Depreciate plant and machinery and furniture @ 10 percent p.a. on WDV
method.
The Head Office sent goods to Branch for ¥ 39,40,000.
The Head Office shows an amount of ¥ 43,00,000 due from Branch.
Stock on 30" September, 2011- $ 52,000.
There were no goods in transit items either at the start or at the end of the

L

year.
7. On September 1, 2009, when the fixed assets were purchased, the rate of
exchange was ¥ 38 to one $.
On October 1, 2010, the rate was ¥ 39 to one $.
On September 30, 2011, the rate was ¥ 41 to one $.
Average rate during the year was ¥ 40 to one $.

Contd...4
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You are asked to prepare: '
(a) Trial balance incorporating adjustments given under 1 to 4 above, converting
dollars into rupees;

(b) Trading and Profit and Loss Account for the year ended 30th September, 2011
and Balance Sheet as on that date depicting the profitability and net position of
the branch as would appear in India for the purpose of incorporating in the main
Balance Sheet.

Jalani Distributors sold three light commercial vans to Jain Enterprises on January

1, 2017 on hire purchase system. The price of each van was 90,000 payment of
which was to be made as follows:

1. ¥ 30,000 as down Payment for each van:

2. Remaining amount in 3 annual equal installments along with interest @
15%.

Jain Enterprises were charging depreciation @ 20% each year on written down
value method. After Payment of the first installment as on December 31, 2017,
they could not pay further installments. It was agreed between the parties for
repossession of two vans adjusting their value against the amount due. For the
purposes of repossession, depreciation @ 30% p.a. was charged.
Repossessed goods were repaired at a cost of 2 2,000 and were then sold for
¥92,000. Calculate the value of repossessed stock and show the necessary
accounts in the books of both the parties.
Bihar Coal Company undertook some coal bearing land from Mr. Gupta at a royalty
of 1 per ton, with a minimum rent of 17,000 p.a. Each year's excess of
minimum rent over actual royalties was recoverable during the subsequent three
years. The lease, however stipulated that in any year minimum rent was not
attained due to strike, the minimum rent was to be retarded and having been
reduced Proportionately having regard to the length of the stoppage.

The output was as follows:

Year Production (Tons)

1995 2,000

1996 14,000

1997 19,000

1998 23,000

1999 15,000 (strike for 3 months)
2000 25,000

Prepare Ledger Accounts in the books of both the parties.

Contd...5
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Sehwag & Co with headquarters at Chennai maintains a branch at Kochi. Goods

SECTION -D
Answer the following: (Compulsory)

Page No.5

(10)

are invoiced to the Kochi branch at cost plus 25%. In respect of the Kochi branch,
the following information pertaining to the year ended 31-3-2011 is made

available to you:

Goods sent to branch at

6,25,000 | Amounts received from 3,40,000
invoice price branch debtors
Cash sales effected by 1,76,000 | Cheques of customers 8000
branch which got discounted
Goods returned by 10,000 | Branch expenses met in 72,900
customers to branch cash
Bad debts 5000
Discount allowed to 2000
customers

As on As on
31-3-2010 31-3-2011

Stock at branch 1,25,000 Stock at branch 1,75,000
(at invoice price ) ( at invoice price )
Branch debtors 40,000 Branch debtors 95,000

Adopting the Stock and Debtors System, you are required to prepare the following
Ledger Accounts, as appearing in the Books of Head Office:
(a) Kochi Branch Debtors Account

(b) Kochi Branch Stock Account
(c) Kochi Branch Adjustments Account

ok ook ok ko ok
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SECTION - A
Answer any FIVE of the following.

1. State qualitative characteristics of financial statements.

2. State the main purpose of the Conceptual Framework for Financial Reporting
adopted by the International Accounting Standards Board (IASB).

3. An asset costs $150,000 and has an expected useful life of ten years. The
purchaser intends to use the asset for six years at which point the expected
residual value will be $60,000 (at current prices).

What is the depreciable amount?

4. During the year to 31st December 2008 Co X incurred $200,000 of development
costs for a new product. In addition, X spent $60,000 on 1st January 2008 on
machinery specifically used to help develop the new product and $40,000 on
building the brand identity.

Commercial production is expected to start during 2009.

(5x2=10)

The machinery is expected to last 4 years with no residual value.
At what value should Intangibles appear in the Statement of Financial
Position as at 31st December 2008?

5. LPD buys goods from its 75% owned subsidiary QPR. QPR earns a mark-up of 25%
on such transactions. At the group’s year end, 30 June 2011 LPD had not yet taken
delivery of goods, at a sales value of $100,000, which were dispatched by QPR on
29 June 2011.

What would be the value of inventory that would appear in the consolidated
statement of financial position of the LPD group at 30 June 20117
6. The following information relates to three assets:

X Y z
$000 $000  $000
Carrying amount 100 150 120
Net realisable value 110 125 100
Value in use 120 130 90

Calculate the impairment loss for each of the three assets.
7. Antony's year end is 31 December. The following events all occurred in January.

State whether the events below would be classed as adjusting or non-adjusting
events.
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Event Adjusting Non-
adjusting

Completion of the purchase of another company

Loss of inventory due to a flood

A court case from August is settled by Anderson

The discovery of a fraud showing the financial

statements were incorrect

SECTION - B

Answer any FOUR of the following. (4x12=48)

State potential users of company published financial statements, briefly explaining
for each one their likely information needs from those statements.

On 1 April 20X8 the fair value of Xu's leasehold property was $100,000 with a
remaining life of 20 years. The company's policy is to revalue its property at each
year end. At 31 March 20X9 the property was valued at $86,000. The balance on
the revaluation surplus at 1 April 20X8 was $20,000 which relates entirely to the
leasehold property.

Xu does not make a transfer to realised profit in respect of excess depreciation.
Required:

(a) Prepare extracts of Xu's financial statements for the year ended 31
March 20X9 reflecting the above information.

(b) State how the accounting would be different if the opening revaluation
surplus did not exist.

An entity based in the US sells goods to overseas for Kr300,000 on 25 February
2019 when the exchange rate was Kr0.60:$1.

The customer pays in May 2019 when the rate was Kr0.65:$1.

The exchange rate at the year ended 30 June 2019 was Kr0.70:$1.

Required:

(a) Prepare the journal entries to record the sale of the goods by the US entity.

(b) Show the journal entries to record the payment in May 2019.

(c) If the amount was outstanding at the year end, what would the gain or loss in
the statement of profit or loss be?

Shaeen Ltd entered into an agreement to lease an item of plant on 1 October
2019. The lease required four annual payments of $200,000 each, commencing on
1 October 2019. The plant has a useful economic life of four years and is to be

scrapped at the end of this period. The present value of the lease payments is
$700,000. The implicit interest rate within the lease is 10%.
Required:

Prepare extracts of the financial statements in respect of the leased asset
for the year ended 31 March 2020.
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A company issued one new share for every two existing shares held by way of
rights at $2.50 per share on 1 July 2019. Pre-issue market price was $3.50 per

share.

Relevant information:

2019 2018
Profit attributable to the ordinary shareholders
for the year ending 31 December $450,000 $360,000
Number of ordinary shares in issue at 1,050,000 650,000

31 December
Required:
Calculate basic EPS to be presented in the financial statements for the year ended

31 December 2019 (including comparative figure)

13. Set out below are the draft statements of profit or loss of Prunes and its subsidiary
company Sultanas for the year ended 31 December 2017.
On 1 January 2016 Prunes purchased 75,000 ordinary shares in Sultanas from an
issued share capital of 100,000 $1 ordinary shares.
Statements of profit or loss for the year ended 31 December 2017
Prunes Sultanas
$000 $000

Revenue 600 300
Cost of sales 360 (140)
Gross profit 240 160
Operating expense (93) (45)
Profit from operations 147 115
Finance costs - 3)
Profit before tax 147 112
Tax (50) (32)
Profit for the year 97 80

The following additional information is relevant:
(i) During the year Sultanas sold goods to Prunes for $20,000, making a mark-up
of one third. Only 20% of these goods were sold before the end of the year, the
rest were still in inventory.
(ii) Goodwill has been subject to an impairment review at the end of each year
since acquisition and the review at the end of this year revealed another
impairment of $5,000. The current impairment is to be recognized as an operating
cost.
(iii) At the date of acquisition a fair value adjustment was made and this has
resulted in an additional depreciation charge for the current year of $15,000. It is
group policy that all depreciation is charged to cost of sales.
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method.
(iv) Prunes values the non-controlling interests using the fair value

Required: ded 31

. n
Prepare the consolidated statement of profit or loss for the year €
December 2017.

SECTION - C
Answer any TWO of the following. (2x16=32)
The following information has been extracted from the books of Picklette for the
year to 31 March 2019.

Dr. Cr.
$000  $000

Administrative expenses 170
Interest paid 5
Called up share capital 200
(Ordinary shares of $1 each)
Dividend 6
Cash at bank and in hand 9
Income tax 10
(Remaining balance from previous year)
Warranty provision 90
Distribution costs 240

Land and buildings:

at cost (Land $110,000, Buildings $100,000) 210
accumulated depreciation (at 1 April 2018) 48
Plant and machinery:

at cost 125
accumulated depreciation (at 1 April 2018) 75
Retained earnings (at 1 April 2018) 270
10% Loan (issued in 2017) 80
Purchases 470
Sales 1,300
Inventory (at 1 April 2018) 150
Trade payables 60
Trade receivables 728 -
2123 2,123

Additional information:
(a) Inventory at 31 March 2019 was valued at $250,000.

(b) Buildings and plant and machinery are depreciated on a straight-line basis
(assuming no residual value) at the following rates:
On cost: Buildings 5%

Plant and machinery 20%
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(c) There were no purchases or sales of non-current assets during the year to 31
March 2019,

(d) The depreciation charges for the year to 31 March 2019 are to be apportioned
as follows:
Cost of sales 60%
Distribution costs 20%
Administrative expenses 20%
(e) Income taxes for the year to 31 March 2019 are estimated to be $135,000.
(f) The 10% loan was issued in 2019 and is repayable in five years.
(g) The year end provision for warranty claims has been estimated at $75,000.
Warranty costs are charged to administrative expenses.
Required:
Prepare Picklette plc’s statement of profit or loss for the year to 31 March
2019 and a statement of financial position as at that date.
Statements of financial position and statements of profit or loss for Pearl Motors

are set out below.
Statement of financial position for Pearl Motors

2012 2011
$000 $000 $000 $000
Non-current assets:
Land and buildings
Cost 3,200 2,900
Depreciation (400) (300)
2,800 2,600
Plant and machinery:
Cost 1,200 800
Depreciation (240) (200)
960 600
3,760 3,200
Current assets:
Inventory 600 200
Receivables 400 200
Total assets 5,16 3,600
Equity:
Share capital - $1 ordinary shares 1,200 1,200
Retained earnings 310 220
1,510 1,420
Current liabilities:
Bank overdraft 1,180 420
Payables and accruals 740 140
Tax 220 200
5,160 3,600
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Statements of profit or loss for Pearl Motors

2012 2011

$000 $000
Sales revenue 3,000 2,000
Cost of sales (1,400) 600
Gross profit 1,600 ° 1,400
Administration and distribution expenses (800) (720)
Profit before tax 800 680
Income tax expense (400) (340)
Profit for the year _400 _340

The dividend for 2011 was $200,000 and for 2012 was $220,000.
Required:
Calculate the following ratios for Pearl Motors and briefly comment upon what they
indicate:

(a)Gross Profit Margin

(b)Operating Profit Margin

(c) ROCE

(d)Net Asset Turnover.

(e)Current Ratio

(f) Quick Ratio

(g) Inventory Collection Period

(h)Accounts Receivable Collection Period

(i) Accounts Payable Payment Period

HAPPY acquired 80% of JOY on 1 Dec 2014 paying $4.25 in cash per share. At this
date the balance on JOY’s retained earnings was $870,000.

On 1 March 20X7 HAPPY acquired 30% of MERRY’s ordinary shares. The
consideration was settled by a share exchange of 4 new shares in HAPPY for every
3 shares acquired in MERRY. The share price of HAPPY at the date of acquisition
was $5. HAPPY has not yet recorded the acquisition of MERRY in its books.

The statements of financial position of the three companies as at 30 November
20X7 are as follows:
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HAPPY (§'000) |JOY ($7000) @

Non-Current Assets: 1300 850 900
Property I
Plant and Equipment 450 _____2_1_9_,_,__—_____,1_5_9-/———-
Investments 1825 ]
Current Assets: 550 230 200
Inventory ]
Receivables 300 340 ___,’599_,,__—_
Cash 120 50 140

4545 1680 | 1790
Equity: |
Share Capital 1800 500 __’,_35_9_,,__
Share Premium 250 80 -
Retained Earning 1145 400 _______}_2_0_0,_,.__

3195 980 1450
Non-Current Liabilitie?—1
10%Loan Notes 500 300
Current Liabilities:
payables 520 330 250
Taxation 330 70 90

4545 1680 1790

.

The following information is relevant:

As at 1 December 20X4, plant in
a fair value of $50,000 in excess of its carrying

page No.7

the books of Joy

had a remaining life of 5 years at this date.

In September 20X4 MERRY sold goods
goods had costed MERRY $100,000.

period, JOY sold go
HAPPY had a quarter of these goods still

HAPPY) in inventory at the year-end.

was determined to
amount. The plant

ods to HAPPY for

to HAPPY for $1,50,000. These
HAPPY had $90,000 (at cost to

bove inter-company sales, HAPPY’s books showed

$50,000 and $20,000 as owing to JOY and MERRY respectively at the

year end. These balances agreed with the amoun

ts recorded in JOY’s

measured using the fair value method. The
on-controlling interest in JOY at the date of acquisition

was $368,000. Goodwill has impaired by $150,000 at the reporting date.

An impairment review found the investment in the associate to be

impaired by $15,000 at the year-end.

)
have

i) During the post-acquisition
$400,000 at a mark-up of 25%.
in inventory at the year-end.

iii)

iv) Asa result of the a
and MERRY’s books.

V) Non-controlling interests are
fair value of the n

vi)

Required:

Prepare HAPPY's consolidated state

20X7.

MERRY’s profit after tax for the year is $600,000.

ment of financial position as at 30 November
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SECTION - D

Answer the following: (Compulsory)

Page No.8

(10)

17. Vernon Co. holds a number of financial instruments, which are detailed below:

Issue/Acquisition Date Value 1 Jan 2020 ($'000)
Equity Investments 1 Jan 2020 28700
4% Convertible bonds 1 Jan 2020 30000
4% Loan notes 1 Jan 2020 20000

I. Vernon Co. holds the equity investments using the alternative treatment
permitted by IFRS 9. During the year, Vernon Co. sold shares which had
cost $7.8 million for $9.7 million. The fair value of the remaining shares at

IL

III.

1v.

31 December 20X4 was $19.8 million.

How much should be taken to the statement of profit or loss for the
Year ending 31 December 2020?

$______ '000 gain

The $30 million convertible bonds can be converted on 31 December 20X6.

Similar loan notes without the conversion option carry an interest rate of 7%.
Relevant discount factors are shown below: '

Year | Discount factor @ 4%
0.962
2 0.925 0.873

3 0.889 0.816

a) How much should be recorded in equity in relation to the
convertibles?

Discount factor @ 7%
0.935

b) What is the value of Bonds to be recorded as at 31 Dec 2020.
The $20 million 4% loan notes incurred $500,000 issue costs. The loan
notes are repayable at a premium, giving them an effective rate of 8%.
What amount should be recorded in finance costs in relation to the
loan notes for the year ending 31 December 2020?
Vernon Co. also factored $2 million of its receivables to a bank during the
year. The bank paid $1.8 million to Vernon Co. The bank charged Vernon
Co. a $100,000 fee for this, and all responsibility for the receivables returns
to Vernon Co. if the debts are unpaid after 6 months.

Which TWO of the following represent the correct accounting
treatment for this arrangement?

a) This is a $1.8 million loan and should be held as a current liability.
b) The $100,000 should be expensed in the statement of profit or loss.

) A loss of $200,000 should be recorded in the statement of profit or
loss.

d) The receivables should be derecognized from the statement of
financial position.
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B.Com. Semester I1I- Degree Examination
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COST ACCOUNTING -1

Time: 3 hrs. Max Marks: 100

10.

11.

Nou s

SECTION - A
Answer any FIVE of the following. (5x2=10)
Define ‘Cost’.
What is Cost Unit?
What are direct materials?
Give two examples of fixed overheads.
What do you mean by ABC analysis?
What is meant by Machine Hour Rate?

State any four items which are included in financial accounts but not in cost
Accounts.

SECTION - B
Answer any FOUR of the following. (4x12=48)
What is Cost Accounting? Explain the objectives of Cost Accounting.
What is centralised and decentralised purchasing? Explain its merits and
demerits.
The following transactions took place in respect of Material 'X' during March
2015.
03-01-2015 Opening stock of materials 500 units at Rs.1.50 per unit
03-02-2015 Purchases 2000 units at Rs.2.00 per unit
03-04-2015 Purchases 3000 units at Rs. 2.50 per unit
03-06-2015 Issues 2500 units
03-08-2015 Purchases 2,500 units at Rs.2.70 per unit
03-10-2015 Issues 2000 units
You are required to prepare a stores ledger account using Weighted average
method of pricing material issues.
A factory produces a standard product. The following information are given to
you from which you are required to prepare a cost sheet for January 2012.

Raw materials consumed Rs.2,91,000

Direct wages Rs.1,29,000

Other direct expenses Rs.81,000

Factory overheads 80% of direct wages
Office overheads 10% of works cost
S & D expenses Rs.20 per unit sold
Units produced and sold during the month | 10,000 units

Find the selling price per unit when the profit earned is at 20% on selling price.
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Compute the machine hour rate from the following details:

Rent of the department Rs.6,000 p.a. (Space occupied by this machine is 1/4 of
the department).

Lighting Rs.2,500 p.a. (Total light points in the department is 15 out of which 3
are for this machine).

Insurance Rs. 600 p.a. \
Salary of supervisor Rs.24,000 p.a.( 1/3 of his time is occupied by this machine).

The machine was purchased for Rs.50,000 and scrape value is Rs.4,000. Its

estimated working life is 10 years. The machine runs 2300 hours p.a. and it

requires Rs.17,250 expenditure towards repairs throughout its life. It consumes

5 units of power at a cost of Rs.4 per unit.

From the following figures prepare a Reconciliation Statement and determine
financial profit.

Net profit as per costing books Rs. 66,760

Factory overhead under recovered in costing Rs. 5,700
Administration overhead recovered in excess in costing Rs. 4,250
Depreciation charged in financial books Rs. 3,660
Depreciation recovered in costing books Rs. 3,950
Interest received recorded in financial books Rs. 450
Income tax provided in financial books Rs. 600

Bank interest credited in financial books Rs. 230

Stores adjustment (credited in financial books) Rs. 420
Depreciation of stock charged in financial books Rs. 860
Dividend appropriated in financial books Rs. 1,200

Loss due to theft provided in financial books Rs. 260

Loss due to obsolescence charged in financial books Rs. 280

SECTION - C
Answer any TWO of the following. (2x16=32)

In respect of a factory, the following particulars have been extracted for the year
2019:

Rs.
Cost of materials 6,00,000
Wages 5,00,000
Factory overheads 3,00,000
Administration charges  3,36,000
Selling charges 2,24,000
Distribution charges 1,40,000
Profit 4,20,000

A work order has to be executed in 2020, and estimated expenses are :
Materials Rs.8,000; Wages Rs.5,000.
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Assuming that in 2020, the factory overheads will go up by 20%, distribution
charges will come down by 10%, and selling and administration charges will

increase each by 15%.

At what price the product to be sold, so as to earn the same rate of profit on
selling price as in 2019?

Factory overheads are based on wages and administration, selling and
distribution overheads on factory cost.
15. From the following particulars of material EME, prepare the stores ledger account
using FIFO method of pricing issues.
01-Mar Balance 400 units at Re.1 per unit
2 Issued 100 units
4 Received 1,600 units at Rs.1.10 per unit
6 Issued 600 units
10 Returned to stores 40 units issued on 2nd March
11 Received 600 units at Rs.1.20 per unit
14 Issued 640 units
16 Received 200 units at Rs.1.20 per unit
20 Issued 240 units
22 Returned to vendors 80 units (received on March 16th)
25 Received 400 units at Re.1 per unit
30 Issued 500 units

16. In a factory there are three production departments P1, P2 and P3 and two
service departments S1 and S2. In march 2020 the departmental expenses were
as follows:

Production departments:
P1-Rs.6,50,000 , P2-Rs.6,00,000 , P3-Rs.5,00,000
Service departments - S1- Rs.1,20,000 S2-Rs.1,00,000
The service departments expenses are apportioned on a percentage basis as
follows:
P1 P2 P3 S1 S2

51 30% 40% 15% nil 15%

S2 40% 30%  25% 5% nil
Prepare a statement showing the distribution of service department expenses
Under a) Simultaneous Equation Method  b) Repeated Distribution Method.
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SECTION-D

Answer the following: (Compulsory) (10)
a) Calculate Reorder level, Minimum level, Maximum level from the following
information:

Maximum consumption 10 units per day

Minimum consumption 6 units per day

Normal consumption 8 units per day

Re-order quantity 250 units

Delivery time 4 to 8 weeks

Assume 6 days as working period per week.

b) During a particular year the cost books of a company showed a profit of
Rs.1,68,000.

A careful scrutiny of the figure from both the sets of accounts revealed the
following facts:
1) Sundry income of Rs.5,000 was not considered in cost books.
2) Factory overhead under recovered in cost books Rs.20,200.
3) Selling expenses under recovered in cost books Rs.51,750.
4) Administration expenses, over recovered in cost books Rs.24,950.
Reconcile cost books with financial books.
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SECTION - A
Answer any FIVE questions of the following: (5x2=10)
1. Average unit times for product X have been tabulated as follows
Unit number |- | Cumulative average time per unit

1 - 20 minutes

2 - 17.2 minutes

4 - 14.792 minutes

8 - 12.72 minutes

Required: What is the Learning Curve rate?
2. The selling price of product Zigma is set to be $250 for each unit and sales for the
coming year are expected to be 500 units. If the company requires a return of 15% in the

coming year on its investment of $250,000 in product Zigma, the target cost for each unit
for the coming year is

A. $145
B. $155
C. $165
D. $175
3. The following statements have been made about the issues faced by businesses in the
management of their environmental costs:
(1) The costs involved are difficult to define.
(2) Environmental costs can be categorised as quality related costs.
(3) Cost control can be an issue, in particular if costs have been identified
incorrectly in the first place.
Which of the above statements is/are true?
A. (1) only
B. (2) and (3) only
C. None of them
D. All of them
4. In order to utilise some spare capacity, K is preparing a quotation for a special order
which requires 2,000 kgs of material J.

K has 800 kgs of material J in inventory (original cost $7.00 per kg). Material J is used
in the company’s main product L. Each unit of L uses 5 kgs of material J and, based on
an input value of $7.00 per kg of J, each unit of L yields a contribution of $10.00.

The resale value of material J is $5.50 per kg. The present replacement price of material

J is $8.00 per kg. Material J is readily available in the market.
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What is the relevant cost of the 2,000 kgs of material J to be included in the quotation?

A. $11,000
B. $14,000
C. $16,000
D. $18,000

Betis Limited is considering changing the way it is structured by asking its employed
staff to become freelance. Employees are currently paid a fixed salary of $240,000 per
annum, but would instead be paid $200 per working day. On a typical working day, staff
can produce 40 units. Other fixed costs are $400,000 pa.

The selling price of a unit is $60 and material costs are $20 per unit.

What will be the effect of the change on the breakeven point of the business and the level
of operating risk?

A. The breakeven point reduces by 6,000 units and the operating risk goes down
B. The breakeven point reduces by 4,571 units and the operating risk goes down
C. The breakeven point reduces by 4,571 units and the operating risk goes up
D. The breakeven point reduces by 6,000 units and the operating risk goes up
A product has a prime cost of $12, variable overheads of $3 per unit and fixed overheads
of $6 per unit.
‘Which pricing policy gives the highest price?
A. Prime cost + 80%
B. Marginal cost + 60%
C.TAC +20%

D. Net margin of 14% on selling price
. HH plc monitors the % of total sales that derives from products developed in the last

year. Which part of the balanced scorecard would this measure be classified under?
A. Financial perspective
B. Customer perspective
C. Internal perspective
D. Learning perspective

SECTION -B

Answer any FOUR questions of the following: (4x12=48)

Advent Company has a maximum capacity of 2, 20,000 units per year. Normal capacity
is

1,80,000 units per year. Variable manufacturing costs are Rs. 11 per unit. Fixed factory
overhead is Rs. 5, 40,000 per year. Variable selling costs are Rs. 3 per unit, while fixed
selling costs are Rs. 2, 52,000 per year. Sale price is Rs. 20 per unit.
Required:
A. What is the break-even point expressed in rupee sale?
B. How many units must be sold to earn a net income of 10% on sales?
C. What should be the selling price per unit if breakeven point is to be brought down to
1, 00,000 units?

D. What will be the margin of safety when profit is Rs. 1, 20,000?
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a) Find the linear relationship between price (P) and the quantity demanded (Q)-
- Selling price of $300=Sale of 500 units per month.
- Selling price of $330=Sale of 400 units per month

b) Using the price equation in (a) and assuming the variable cost per unit is $90, calculate
optimum price and output.
¢) Calculate the maximum contribution.

10. Chapel Ltd manufactures a chemical protective called Rustnot. The following standard

costs apply for the production of 100 cylinders:

$
Materials 500 kgs @ $0.80 per kg 400
Labour 20 hours @ $1.50 per hour 30
Fixed overheads 20 hours @ $1.00 per hour 20
450

_—

The monthly production/sales budget is 10,000 cylinders.
Selling price = $6 per cylinder.

For the month of November the following production and sales information is available:

Produced/sold 10,600 cylinders
Sales value $63,000
Materials purchased and used 53,200 kgs $42,500
Labour 2,040 hours $3,100
Fixed overheads $2,200
Required:

You are required to prepare an operating statement in a marginal costing format for
November detailing all the variances.

11. The Information Systems strategy within the MG organisation has been developed over
a number of years. However, the basic approach has always remained unchanged. An 1T
budget is agreed by the board each year. The budget is normally 5% to 10% higher than
the previous year’s t0 allow for increases in prices and upgrades to computer systems.
Systems are upgraded in accordance with user requirements. Most users see IT systems
as tools for recording day-to-day transactions and providing access to accounting and
other information as necessary. There is no Enterprise Resource Planning System
(ERPS) or Executive Information System (EIS).

The board tends to rely on reports from junior managers to control the business. While
these reports generally provide the information requested by the board, they are focused
at a tactical level and do not contribute to strategy formulation or implementation
Required:

Advise the board on how an ERPS and EIS could provide benefits over and above those

provided by transaction processing systems.
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Define transfer pricing. What are the objectives of transfer pricing system? Discuss two
main methods of setting the transfer price.

A company manufactures a chemical using two components, A and B. The standard
information for one unit of the chemical are as follows:

$
Material A 10 kg at $4 per kg 40
Material B 20 kg at $6 per kg 120
160

In a particular period, 160 units of the chemical were produced, using 1,000 kgs of
material A and 1,460 kgs of material B.

Required:
Calculate the material usage, mix and yield variances for each material.

SECTION - C
Answer any TWO questions of the following: (2x16=32)
A Swiss watch making company wishes to determine the minimum price it should charge
a customer for a special order of watches. The customer has requested a quotation for 10
watches (1 batch), but might subsequently place an order for a further 10. Material costs
are $30 per watch. It is estimated that the first batch of 10 watches will take 100 hours to
manufacture and an 80% learning curve is expected to apply. Labour plus variable

overhead costs amount to $3 per hour. Setup costs are $1,000 regardless of the number of
watches made.

Required:

(2) What is the minimum price the company should quote for the initial order if there is
no guarantee of further orders?

(b) If the company was then to receive the follow-on order, what would the minimum
price of this order be?

(c) What would be the minimum price if both orders were placed together?

(d) Having completed the initial orders for a total of 20 watches (price at the minimum
levels recommended in (a) and (b)), the company thinks that there would be a ready
market for this type of watch if it brought the unit selling price down to $45. At this
price, what would be the profit on the first 140 ‘mass-production’ watches (i.e. after the
first 20 watches) assuming that marketing costs totalled $250?

Abkaber plc assembles three types of motorcycle at the same factory: the 50cc Sunshine;
the 250cc Roadster and the 1000cc Fireball. It sells the motorcycles throughout the
world. In response to market pressures Abkaber plc has invested heavily in new
manufacturing technology in recent years and, as a result, has significantly reduced the
size of its workforce.

Historically, the company has allocated all overhead costs using total direct labour hours,

but is now considering introducing Activity Based Costing (ABC). Abkaber plc’s
accountant has produced the following analysis.
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| Annual outpyt | —
it tbut | Annual direct Selling price | Raw material cost
uni
) labour hours ($ per unit) ($ per unit)
Sunshi 2000
- hine 2,000 200,000 4,000 400
fadster 1,600 220,000 6,000 600
Fireball 400 80,000 8,000 900

The three cost drivers that generate overheads are:

showrooms.

a production run of a different type of motorcycle.

e Purchase orders — the number of purchase orders.

Deliveries to retailers — the number of deliveries of motorcycles to retail

Set-ups — the number of times the assembly line process is re-set to accommodate

The annual cost driver volumes relating to each activity and for each type of motorcycle

are as follows:

Number of Number of | Number of purchase
deliveries to retailers | set-ups orders
Sunshine 100 35 400
Roadster 80 40 300
Fireball 70 25 100
The annual overhead costs relating to these activities are as follows:
$
Deliveries to retailers 2,400,000
Set-up costs 6,000,000
Purchase orders 3,600,000

All direct labour is paid at $5 per hour. The company holds no inventories.

At a board meeting there was some concern over the introduction of activity based
costing.

The finance director argued: ‘I very much doubt whether selling the Fireball is viable but
I am not convinced that activity based costing would tell us any more than the use of
labour hours in assessing the viability of each product.’

The marketing director argued: ‘I am in the process of negotiating a major new contract
with a motorcycle rental company for the Sunshine model. For such a big order they will
not pay our normal prices but we need to at least cover our incremental costs. [ am not
convinced that activity based costing would achieve this as it merely averages costs for
our entire production’.

The managing director argued: ‘I believe that activity based costing would be an
improvement but it still has its problems. For instance if we carry out an activity many
times surely we get better at it and costs fall rather than remain constant. Similarly, some

costs are fixed and do not vary either with labour hours or any other cost driver.’
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The chairman argued: ‘I cannot see the problem. The overall profit for the company is

the same no matter which method of allocating overheads we use. It seems to make no
difference to me.’

Required:

(a) Calculate the total profit on each of Abkaber plc’s three types of product using
activity based costing methods to attribute overheads:

CAF Ltd produces a single large item of confectionary, Product S, that is sold for $12 per

unit. You have been provided with the following information about the ‘S’ for the
forthcoming year:

Sales 6,000 units

Variable costs $7 per unit

CAF’s overheads are budgeted to amount to $20,000. CAF’s Financial Director has
asked you to prepare some documents for a presentation to the Board of Directors.

Required:

(a) Calculate, and briefly explain the significance of, CAF’S breakeven point and margin

of safety, expressed as a percentage. (8 Marks)
(b) Based on CAF’s information above, construct and explain the purpose of the three
following charts:

(1) A breakeven chart

(2) A contribution graph

(3) A profit — volume chart. (8 Marks)

SECTION -D

Answer the following: Compulsory (10)

In Hebrews the optimal solution was determined to be x=4 and y=4 giving an optimal
contribution of $360. This solution was at the intersection of the lines

Cutting 6x+3y=36

Assemble 4x+8y=48

Suppose one extra hour was available for the cutting process, calculate the shadow price

for this additional hour of cutting time.
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10.

11.

12.

SECTION - A

Answer any FIVE of the following.
Define Previous Year and Assessment Year.
What is the general rule of taxation? Mention the exceptions to the general

(5x2=10)

rule.
When is a company said to be Resident in India?
What is Annual Value?
Mention any four deductions u/s 80C.
State any four fully taxable allowances.
State any two cases in which income from house property is assessable as
income from business.
SECTION - B

Answer any FOUR of the following. (4x12=48)

Write notes on:

a) Agricultural Income.

b) Provident Funds.
Explain the valuation of - i) Motor car i) Residential house
Mr. Simon, a foreigner, came to India from U.S.A. for the first time on 15t April
2013. He stayed here continuously for 3 years and went to France on 1% April
2016. He, however, returned to India on 1% July 2016 and went to U.S.A. on
15t December 2016. He again came back to India on 25th January 2020, on a
service in India, what will be his residential status for A.Y. 2020-21?
Ganesh retired from service on 31/03/2020 after serving 27 years and 6
months. He had 9 months earned leave to his credit. His last drawn salary was
Rs.22,500 and DA at 30% of his basic. The increment of Rs.1,000 falls due on
1% September every year. He received Rs.6,50,000 on leave encashment and
commuted 3/4th of his pension and received Rs.3,30,000. Find out Taxable
Leave Encashment and Taxable Commuted Pension.
Compute Taxable Income under the head Salary of Mr. Praveen for the A.Y
2020-21 from the following information.
a) Basic pay Rs.25,000 p.m.
b) DA (60% of which is included for retirement benefits) Rs.10,000 p.m.
c) House Rent Allowance Rs. 8,000 per month. He is paying a rent of

Rs. 7,000 per month as rent of the house in Mangaluru.
Contd...2
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d)  Children education allowance (for three children) Rs.250 p.m. per child.

e)  Children hostel allowance (for three children) Rs.400 p.m. per child.

f)  Reimbursement of club facility bill availed by the employee., Mr. Praveen
from his employer Rs.15,000.

h) Gift of Fast Track Watch Rs.8,000.

i) Motor car of 1.8 liter c.c. with driver for official purposes is given by

company.

Facility of cook, sweeper, gardener and watchman, each being paid

Rs.1,200 p.m. by the employer.

1) The employer deducted Rs.200 p.m. as his professional tax.

Mr. Abhishek owns a house at Kanpur, municipal value of which is Rs.30,000

and fair rent Rs.35,000 per annum. During the previous year the house is used

by him for his own residence from 1% April 2019 to 30% June 2019 and is let

out for Rs.3,000 p.m. from 1% July 2019 for residential purpose. The house

owner incurred the following expenses during the previous year:

Municipal Tax Rs.4,500; Repair Rs.6,000; Fire Insurance Premium Rs.4,000;

Land Revenue Rs.4,500 and Ground Rent Rs.3,000.

He took a loan of Rs.4,00,000 at 9% interest per annum for the construction of

the house as on 1% April, 2015. The construction was completed on 31 March,

2017. No amount of loan has been paid off so far. Compute Taxable Income

from House Property for the Assessment Year 2020-21.

SECTION - C
Answer any TWO of the following. (2x16=32)
Compute the taxable income of Mrs. Deepthi from the following particulars for

the A.Y. 2020-21, if she is (1) Resident (2) Not-Ordinarily Resident and (3)
Non-Resident.

a)

Salary received in India for services rendered in England Rs.3,00,000.
b)

Profit from business in Iran (business controlled from India)
Rs.2,00,000.

c) Income earned in Japan Rs.1,00,000 (1/2 of it is received in India).

d) Income from agriculture in Sri Lanka, deposited in a bank there,
Rs.1,50,000.

e) Past untaxed foreign income brought to India Rs.50,000.

f) Income from house property situated in New York Rs.80,000.

9) Income from salary received in India for services rendered in New York
Rs.48,000.

h) Gift from a friend received in India on the occasion of marriage
Rs.25,000.

i) Profit from business in Bengaluru controlled from America Rs.2,50,000.
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j) %n;t'irt)ast on U.K. Development Bonds Rs.50,000 (1/5th received in
ndia).

k) Income from cultivation and manufacture of tea in Karnataka
Rs.5,00,000.

1) Income earned in England received in India Rs.2,00,000.
m)  Agricultural income in Singapore Rs.1,20,000.
n) Income from sale of house in India Rs.50,000
o) Interest on Deposit with Mumbal Branch of HSBC bank Rs.30,000.
P) Dividend from Indian Company Rs.15,000.
15. Mr. Vrushank is an employee in a Robotics System Company at Chennai gives
the following information;
a) Basic salary Rs.30,000 p.m.
b) DA Rs.10,000 p.m. (60% of which is included for retirement benefits)
c) CCA Rs.500 p.m.
d) Medical allowance Rs.7,200 p.m.
e) He is provided with a free lunch by the company. The cost of lunch is
Rs. 80 per meal. (Assume 240 working days in the year)
f) Heis provided with a residential house at a nominal rent of Rs. 2,000
p.m. The house is furnished by the company at a cost of Rs. 80,000.
g) He contributes 10% of his salary to RPF to which his employer
contributes 13%. Interest credited to the RPF account at 10% is
Rs.15000.
h) He is given a car of 1.6 Ltr CC for both private and official purposes,
running and maintenance of this car is met by employee.
i) His father was admitted to private hospital and medical bill amounted to
Rs.50,000, company paid 50% of the bill amount.
j) He has made the following payments;
i) Contribution to ULIP Rs.12,000.
i) Repayment of housing loan, principal Rs.20,000
iii) LIC premium (own) paid Rs.25,000.
Compute his Taxable Income from Salary and Deductions u/s 80C for the
Assessment Year 2020-21.

16. Mr. Pradhan owns four houses, the details of which are as follows.

Particulars House 1 House II House III House IV
Annual municipal 30,000 15,000 12,000 12,000
value
Fair rental value 28,000 21,000 18,000 20,000
Rent received per 3,000 2,000 2,000 2,000
month

| Standard rent 32,000 18,000 21,000 18,000
Vacancy period 3 months - 1 month 1 month
Municipal taxes paid 3,000 1,500 - -
Municipal taxes due - - 1,200 1,600
Repairs 10,000 12,000 6,000 14,000
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For the construction of the third house, he had borrowed Rs.2,50,000; The
interest on loan paid during the construction period up to 31-03-2019
amounted to Rs. 30,000 and in the previous year 2019-20 Rs. 24,000. The
house was completed on 31-10-2017. In respect of the fourth house one
month’s rent was unrealised, the claim was genuine and satisfied the
conditions: and the rent received was for 10 months. Compute the Taxable
Income from House Property for Assessment Year 2020-21.

SECTION - D
Answer the following: (Compuilsory) (10)
Mr. Harshavardhan retired from his job after 29 years 6 months and 15 days of
service on 17-12-2019 and received gratuity amounting Rs.4,00,000. His
salary at the time of retirement was basic Rs.6,000 p.m., dearness allowance
Rs.1,200 p.m., House rent allowance Rs.2,000, Commission on turnover 1%.
He got an increment on 01-04-2019 of Rs.1,000 p.m. on his basic. Turnover
achieved by him was Rs.1,00,000 p.m. Calculate his Taxable Gratuity if he is:

a) Covered under the Payment of Gratuity Act

b) Not covered under the Payment of Gratuity Act
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SECTICN - A
Answer any FIVE of the following. (5%x2=10)
What is product concept?
Write the meaning of consumer behavior.
What is logo?
Write the meaning of branding
What is global demography?
What do you mean by new product pricing?
Define Marketing.

SECTION - B
Answer any FOUR of the following. (4x12=48)
Analyse Product, Production and Marketing concept.
Write the importance of market segmentation.
Explain the factors influencing pricing decisions.
Evaluate different approaches in selecting brand name.
Explain the buying decision process.
Elucidate the stages in product life cycle.

SECTION - C
Answer any TWO of the following. (2x16=32)
Analyze the stages in new product development.
Explain different methods of pricing.

Evaluate the determinants of consumer behaviour.

SECTION - D
Answer the following: (Compulsory) (10)
Explain the significance of marketing.
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10.
11.

12.
13.

14.

15.

16.

SECTION - A
Answer any FIVE of the following. (5x2=10)
Define Corporate Governance.
Mention any two differences between Entrepreneur and Intrapreneur.

What is Board Diversity?

What is meant by Shareholder Activism?

What are the levels of Risk Awareness?

Distinguish between Strategic and Operational risk.
What is the significance of sustainability?

SECTION - B

'Answer any FOUR of the following. (4x12=48)

Explain the different types of Internal and External stakeholders.
What is rule based and principle based approaches to corporate governance?

Explain its merits and demerits.

Define and compare the role of Chief Executive Officer and Company Chairman.
Explain the different types of ethical threats that affect both internal and
external auditors.

Explain briefly the two methods of measuring sustainability.

What is Risk committee? Explain the role and Responsibilities of the risk

committee.

SECTION - C
Answer any TWO of the following. (2x16=32)
What is Agency Theory? Explain the key concept of agent - principal
relationship in the context of governance.
a) Explain the effect of various components of remuneration packages on
director’s behavior benefits. (10 Marks)
b) Explain the issues associated with director’s remuneration. (6 Marks)
What is Integrated Reporting? Explain the Purpose, objectives and guiding
principles that underpin the preparation and presentation of an integrated

report.
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. SECTION - D
Answer the following: (Compulsory) (10)
HELP-WITH-LIFE’ (HWL) ‘Help-with-life’ (HWL) is a charitable organisation
established ten years ago. Its stated purpose is, ‘to help individuals and
families with social problems and related issues.’ Its work, in a large city with
people from many countries and backgrounds, involves advising, counseling,
giving practical support to service users (the people who come for help). Over
the years it has been operating, HWL has realised that the best outcomes are
achieved when the staff member understands and sympathizes with the service
users’ social norms, ethical and cultural beliefs. 40% of HWL's funding comes
from local government. This means that HWL has to account for its use of that
portion of its funding and comply with several rules imposed by local
government. One of these rules concerns demonstrating appropriate diversity
amongst the managers of services such as those delivered by HWL. It requires
the charity management team to involve the widest feasible range of people
and to reflect the demographic makeup of the community. HWL has recently
had to replace a number of executive and non-executive members of its board.
The external auditor suggested that setting up a nominations committee would
help in these board appointments. The CEO, Marian Ngogo, has always
stressed that all directors should share the ethical values of HWL and agree to
take reduced rewards because, ‘every dollar we pay a director is a dollar less
we are spending on service delivery.’ She stressed that the culture in a charity
was very different from a commercial (‘for profit’) business and that staff and
directors must share the ethical stance of HWL and had to accept a different
approach to social responsibility if they joined.
Required:
Explain ‘corporate social responsibility’ (CSR) and discuss the ways in which
CSR and the ethical stance might differ between HWL and a commercial ‘for
profit’ business.
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SECTION - A
Answer any FIVE questions of the following:
Define advertising?
What are the features of Consumer Packaged Goods?
What is the need for Custom study?

Classify various types of goods.

Mention the types of Qualitative Research methodology.

Explain product mix with an example.
Define segmentation.
SECTION - B

Answer any FOUR questions of the following:
Identify the reasons for consumer research.

Discuss the sources of media data.
Differentiate between online retail and offline retail.
Explain various tools of primary research.

What is the importance of retail data validation?
Explain the stages of new product development.

SECTION - C
Answer any TWO questions of the following:

Max Marks: 100

(5%x2=10)

(4x12=48)

(2x16=32)

Explain the benefits of Market Research prior to New Product Launch.

Explain briefly various retail formats.
Explain the various sources of media data.

SECTION - D
Answer the following: Compulsory
Explain various types of branding.
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SECTION - A
Answer any FIVE questions of the following: (5x2=10)

1. What is a short term investment as per AS 13?

2. The value of stock on the date of fire was Rs.10,00,000 and the insurance
policy was for Rs.12,00,000. The loss by fire was Rs.4,00,000. What will be
the amount of claim?

3. What will be the cash price of an asset when the down payment is
Rs.1,00,000 and the only one instalment is Rs.1,10,000 after one at 10%
rate of interest?

What is total repossession?

5. State any two advantages of Departmental accounts
At what rate will you translate the value of fixed assets of a foreign branch, if
the branch is a Non-Integral foreign branch?

7. What is the valuation rule for inventory under AS 2?

SECTION - B
Answer any FOUR questions of the following: (4x12=48)

8. a) Entity A carried plant and machinery in its books at Rs. 2,00,000. These
were destroyed in the fire. The assets were insured ‘New for Old’ and were
replaced by the insurance company with new machines that cost
Rs.20,00,000. The machines were acquired by the insurance company and
the company did not receive the Rs.20,00,000 as cash compensation. State,
how entity A should account for the same? (4 marks)

b) An entity has a factory located in an industrial area which is fully
operational. The entity is required to relocate the factory to the outskirts of
the city on account of the new legislation for polluting industries. The
government allocates a Greenfield site in exchange for acquiring the factory
of the entity and the fair value of the new site is Rs.10 lakh. The WDV for the
plant in the company’s books is Rs.2 lakh. The company is unable to work
out the fair value of the factory. Whether the transaction has commercial
substance? At what value would the entity recognise the transaction?

(4 marks)
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¢) Pasupathi Ltd gave 50,000 equity shares of Rs.10 each (fU"IY Pa':"uhp) in

i share
consideration for supply of machinery by X & Co. The fa.nr value o ° r\s
exchanged for the missionary is Rs.15 per share, at the time of transaction.

lu
In the absence of fair value of the machinery acquired, how would the value
of machinery be recorded in the company’s books?

(4 marks)
Darshan Ltd has a branch at Nagpur which office, goods are invoiced at cost

Plus 25%. The branch makes sales both for cash and credit. Branch
expense g et
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The e-rickshaws were valued on the basis of 30% depreciation annually on
WDV basis.
Show the necessary ledger accounts in the books of Suresh transport Ltd for
the year 2016, 2017 and 2018.
On 12th June, a fire occurred in the premises of Kumar, a Paper Merchant.
Most of the stocks were destroyed, cost of stock salvaged being Rs. 22,400.
In addition, some stock was salvaged in a damaged condition and its value in
that condition was agreed at Rs.21,000. From the books of account, the
following particulars are available.
1. His stock at the close of account on 315t December was valued at
Rs.1,67,000.
2. His purchases from 1% January to 12t June amounted to Rs.2,24,000 and
his sales during the period amounted to Rs.3,08,000.
On the basis of his accounts for the past three years it appears that he earns
on an average a gross profit of 30% on sales. Kumar has insured his stock
for Rs.1,20,000. Compute the amount of the claim.
Sahil investment company holds 1000 15% debentures of Rs. 100 each in
Siva industries Ltd as on 1% April, at a cost of Rs.1,05,000. Interest is
payable on 30th June and 31st December each year.
On 1% May, 500 debentures are purchased cum-interest at Rs.53,500.
On 1%t November, 600 debentures are sold ex-interest at Rs.57,300.
On 30th November, 400 debentures are purchased ex-interest at Rs.38,400.
On 31st December, 400 debentures are sold cum-interest for Rs.55,000.
Prepare investment account showing value of holdings on 31st March at cost
using FIFO method.

SECTION - C
Answer any TWO questions of the following: (2x16=32)
Kiran furnishes you with the following information relating to his business:
(Rs)

Furniture | Stock | Debtors | Creditors | Prepaid Unpaid Cash
(WDV) Expenses | Expenses &
Bank
Opening 6,000 8,000 | 16,000 11,000 600 2,000 1,200
Closing 6,350 7,000 ? 15,000 700 1,800 625

Receipts and payments during the year:

1. Collection from debtors, after allowing discount of Rs.1,500 amounted
to Rs.58,500.

2. Collections on discounting bills, after deduction of discount of Rs.125
by the bank, total Rs.6,125.

3. Creditors of Rs.40,000 were paid Rs.39,200 in full settlement of their
dues
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4. Payment for freight inwards - Rs.3000.

5. Amounts withdrawn for personal use - Rs.7000.

6. Payment for office furniture -,Rs.1000. o < ourchased for Rs.95

7. Investments carrying annual interest of 4% were p

on 1% July and payment made therefor. (FV = Rs. 100)

8. Expenses including salaries paid Rs.14,500.

9. Miscellaneous receipts - Rs.500
Bills of exchange drawn on and accepted by customers during the year
amounted to Rs.10,000. Of these, bills of exchange of Rs.2,000 were
endorsed in favour of creditors. An endorse bill of exchange of Rs.400 was
dishonoured.
Goods costing Rs.900 were used as advertising materials. Goods are

invariably sold to show a gross profit of 33-1/3% on sales. Difference in
cashbook, if any,

is to be treated as further drawings or introduction by
Kiran.

Provide at 2.5% for doubtful debts on closing debtors.

Kiran asks you to Prepare Trading and P&L account for the year ended 31st
December, and a Balance Sheet as on that date.

Rajanikant Ltd is a company in the retail trade. Business had been
concentrated in the past on the shopping premises in the T.Nagar area, but it
has now been decided to open a branch at Spencer towers. The branch was
opened on 1% January, goods were charged out to the branch at selling price
of 10% above cost. The branch sells to its customers at such invoice price.
The following informations were extracted from the head offi
relating to the branch at the end of the year,
amount shown or at invoice price.

ce records
i.e., 31st December. All the

Particulars Rs Particulars Rs
Goods sent to branch Authorised reduction in selling
(including goods invoiced at price 394
Rs.1,100 to branch, but not Discount allowed to customers 80
received by branch till 31st Cash remitted by branch to
December) 24,200 | HO 18,230
Credit Sales 12,960 | Stock at branch at 31st
Cash Sales 9,240 | December 770
Goods returned to branch by Cash at branch at 31st
customers 1,100 | December 500
Goods returned to head office Branch expenses paid by
by branch 484 | branch 50
Goods returned to head office Branch expenses paid by HO 780
by customers 440
Bad debts 160

Certain stocks were lost by fire, the value of which was not yet known.
Prepare the necessary ledger accounts in the books of head office.
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16. Smart investments made the following investments in the year: 12% State
Government Bonds having face value Rs. 100.
Date Particulars

1% April Opening balance (1,200 bonds) book value of Rs.1,26,000

2" May Purchased 2,000 bonds at Rs. 100 cum-interest

30™ Sept | Sold 1500 bonds at Rs.105 ex-interest (interest on the bonds is
received on 30th June and 31st December each year)

Equity shares of X Ltd

Date Particulars

15™ April Purchased 5000 equity shares at Rs.200 on cum-right basis
[brokerage of 1% was paid in addition (FV Rs.10)]

3™ June The company announced a bonus issue of 2 shares for every 5
shares held.

16" Aug Company made a right issue of 1 share for every 7 shares held at

Rs.250 per share. The entire money was payable by 31st August
22" Aug Rights to the extent of 20% was sold at Rs.60. The remaining
rights were subscribed.

2" Sept Dividend at 15% For the previous year was received on 16th
September.

15% Dec Sold 3,000 shares at Rs.300. Brokerage of 1% was incurred extra.

15% Jan Received interim dividend at 10% for the current year.

31% March The shares were quoted in the stock exchange at Rs.220

Prepare investment accounts in the books of smart investments. Assume
that the average cost method is followed.
SECTION - D
Answer the following: Compulsory (10)
17. What are accounting policies? Why should they be disclosed? Give four
situations where accounting policies are formulated.
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CORPORATE LAW

Max Marks: 100

SECTION - A
Answer any FIVE questions of the following:

Briefly explain Doctrine of Indoor Management.

(5x2=10)

Define Shelf Prospectus.
Mention the different sources of issue of Bonus share.
Explain provisions of casual vacancy of statutory auditor.
Define government company
State the exceptions to civil liability.
Mention any 8 contents of board’s report.

SECTION - B
Answer any FOUR questions of the following: (4x12=48)
Explain the procedure to be followed for the incorporation of the Company.
Specify the amounts received by Companies which shall not be treated as
deposits as per the rule 2(c) of Companies Rules, 2014.
Explain all the doctrines with mentioning relevant case laws.
a) Explain Unpaid Dividend Account.
b) Explain Investor education & Protection Fund.

a) State the provisions related to utilization of balance in securities premium
6 Marks

6 Marks
6 Marks

account,
b) Mention the procedure and the situations where the reduction of capital is

possible. 6 Marks

a) State the procedure if the company wants to buy back its share.
6 Marks

b) Can a company voluntary revise its financial statement or board’s report?

If yes, under which provision? 6 Marks

SECTION -C

Answer any TWO questions of the following:
What is the meaning of Memorandum? Explain different clause of

(2x16=32)

Memorandum. _
Explain different types of prospectus and matters to be stated in the

prospectus.

a) Explain powers and duties of Auditor. 10 Marks
b) Explain the CSR activities specified under Schedule VII. 6 Marks
SECTION - D

(10)

Answer the following: Compulsory

Explain the provisions regarding register of members.
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SECTION - A
Answer any FIVE questions of the following: (5%x2=10)
1. Discuss the due date for filing return of income.

Rahul engaged in two businesses gives the following particulars office income
for the year ended 31.3.2020.

Profit of business of consumer and household products ¥ 5,40,000

Loss of business of readymade garments ¥ 2,11,000.

Compute the total income of Rahul.

3. Bad debts written off and allowed in the financial year 16-17 of Rs. 50,000
were recovered in the financial year 19-20. Discuss the taxability.

4. What is the rate of depreciation on a block of intangible assets? Give four
examples of intangible assets.

5. ABC limited makes payment of Rs. 23,000 to Gokul on 01.10.2019 towards
fees for professional services and another payment of Rs. 26,000 to him on
the same date towards fees for technical services. Discuss whether TDS
provisions under section 194] are attracted.

6. Mr. A had a fixed deposit of Rs. 10,00,000 in State bank of India. He
instructed the bank to credit the interest on his deposit to the savings
account of his brother’s son, to help him with his education.

Discuss the implication of this transaction in the hands of Mr. A.

7. Compute the capital gain for the assessment year 2020-21 where, Mr.
Prajwal has sold his personal residential house on 01.05.2020 for Rs.
86,70,000 which was acquired by him on 01.01.2014 for Rs. 30,00,000. The
expenses on transfer were Rs. 70,000.

SECTION - B
Answer any FOUR questions of the following: (4x12=48)
8. a) State in brief the applicability of tax deduction at source provisions, the
rate and amount of tax deduction in the following cases for the financial
year 2019-20:

i) Payment of Rs.27,000 made to Jacques Kallis, a South African
cricketer, by an Indian newspaper agency on 02-07-2019 for

contribution of articles in relation to the sport of cricket.
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i) Rent of Rs.1,70,000 pald by a partnership firm for use of plant
and machinery.

iii)  Winning from horse race Rs.1,50,000.

iv) Rs.2,50,000 paid to Mr. A, @ resident individual on 22-02-2020
by the State of Uttar Pradesh on compulsory acquisition of

urban land.
(8 marks)

Discuss the tax implications of the following in case of a doctor running a

nursing home (amount in Rs.):

i)

Amount paid to a scientific research association approved | 20,000
by the Central Government and run by a drug
manufacturing company

iM)

Payments made in cash towards purchases of medicines 50,000

a)

b)

a)

b)

(4 marks)

XYZ Ltd., commenced business of production of fertilizers on 1-4- 2017.
The company purchased plant and machinery for manufacture of the
fertilizer amounting Rs. 100 lakhs for which deduction was claimed under
section 35AD. In financial year 2019-20 the said asset was used for non
specified business. You are required to determine the tax implications of
the said transaction in hands of XYZ Ltd. (8 marks)
Explain the quantum of late fees u/s 234F for delay in furnishing return of
income within the prescribed time limit u/s 139(1) for A.Y 2019-20.

(4 marks)
Mr. A is the holder of 1,000 preference shares of XYZ Ltd. having a face
value of Rs. 100 each. The preference shares were acquired by him on
10-07-2014 for Rs. 1,50,000. The company converted the preference
shares into equity shares in the ratio of 1:1 on 15-07-2019. The market
value of equity shares on the date of conversion was Rs. 250 per share.
He sold all the equity shares on 10-03-2020 for Rs. 325 per share.
Expenses on transfer amounted to Rs. 10,000. The shares are not listed
in recognised stock exchange. Determine taxable capital gains.

(8 marks)
Mr. Sachin filed return on 30" September, 2020 related to Assessment
year 2020-21. In the month of October 2020, his tax consultant found
that the interest on fixed deposit was omitted in the tax return.

What is the time limit for filing a belated return?
(4 marks)

Discuss the applicability of provisions of Tax Deduction at Source, the rate

and amount of tax deduction to be made in the following cases for the
financial year 2019-20.
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a) Mr. Bobby, a resident whose turn over during the previous financial year
is Rs. 205 lakhs and for the current year 2019-20 it is Rs. 80 lakhs.
i) Shop rent paid to Mr. Rajsekharan, a resident Rs.20,000 per
month.
ii) On 1-11-2019 paid towards fee for technical services Rs.25,000
and royalty of Rs.20,000 to Mr. swamy, a resident who is having
PAN. No other payment made to Mr. swamy
iii) On 01-10-2019 payment of Rs.2,00,000 made to Mr. A for
purchase of diaries according to specification. However, no material

was supplied for such diaries.
iv) Contract payments made to Mr. Satheesan on 01-05-2019 for
painting Rs.25,000 and another contract for interior furnishing on
22-03-2020 for Rs.20,000.
b) Mr. Thrilok an individual not assessed to tax pays towards rent
Rs.60,000 per month.
(12 marks)
12. Compute the total income of Mr. & Mrs. A from the following information
(amounts in Rs.):

Salary income (computed) of Mrs. A 2,30,000
Income from profession of Mr. A 3,90,000
Income of minor son B from company deposits 15,000
Income from minor daughter C from special talent 32,000
Interest from bank received by C on deposits made out of 3,000
her special talent

Gift received by C on 30-09-2019 from friend of Mrs. A 2,500

(12 marks)

13. State with reasons, the allowability of the following expenses incurred by MN
Limited, a wholesale dealer of commodities, under the income tax act 1961
while computing profit and gains from business or profession for the
Assessment year 2020-21

i) Construction of school building in compliance with CSR activities
amounting to Rs. 5,60,000.
ii) Purchase of building for setting up a warehousing facility for storage of
food grains amounting to Rs.4,50,000.
iii) Interest on loan paid to Mr. X (a resident) Rs. 50,000 on which tax has
not been deducted.
iv) Commodity transaction tax paid Rs.20,000 on sale of bullion
(12 marks)
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SECTION - C
Answer any TWO questions of the following:
14. a) Mr. Rakesh Gupta has derived the following Inc

below, for the previous year 2019-20:

page No.4

(2x16=32)

ome/loss, as computed

(Rs.)

2,50,000
Loss from let out house property 3/20 S5
Loss from non speculation business '_IE’TS’—O_O’O-
Income from speculation business 4,101000
Loss from specified business covered u/s 35AD 1,50,000
Winnings from lotteries gross ,901000
Winning from bettings /
Loss from card games 3,40,000

You are required to compute the total income of the assessee for the A.Y.
2020-21 showing, clearly the manner of set-off and the items eligible for

carry forward. The return of income has been filed on 30-07-2020.

(8 marks)

b) Jardine Ltd., is an existing Indian Company which sets up a new industrial
unit. It incurs the following expenditure in connection with the new unit

(amounts in ):

Preparation of project report 4,00,000
Market survey 5,00,000
Legal and other charges for issue of additional capital | 2,00,000
required for the new unit

Total 11,00,000
The following for the data is given:

Cost of project 30,00,000
Capital employed in the new unit 40,00,000

What is the deduction admissible to the company under section 35D?
What will be your answer if the above facts relate to Mr. Jardine, a resident

in India?

(4 marks)

c) AB Co. Ltd. allotted 1,000 sweat equity shares to Sri Chand in June 2018.
The shares were allotted at Rs. 200 per share as against the fair market

value of Rs. 300 per share on the date of exercise of option by the
allottee viz., Sri Chand. The fair market value was computed in
accordance with the method described under the Act.

i)
Chand?
i)

What is the perquisite value of sweat equity shares allotted to Sri

In the case of subsequent sale of those shares by Sri Chand, what

would be the cost of acquisition of those sweat equity shares?

(4 marks)
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a) Mr. Dhaval and his wife Mrs. Hetal furnish the following information:
LSalary income (Computed) of Mrs. Hetal 4,60,000
ii) Income of minor son B’ who suffers from 1,08,000
disability specified in Section 80U
iif) Income of minor daughter ' C’ from singing 86,000
iv) Income from profession of Mr. Dhaval 7,50,000

V) Cash gift received by ' C’ on 02-10-2019 from 48,000
friend of Mrs. Hetal on winning of singing
competition

vi) Income of minor married daughter a from 30,000
company deposit

Compute the total income of Mr. Dhaval and Mrs. Hetal.

b)

c)

a)

(8 marks)

Ramamurthy had 4 light goods vehicles as on 1-4-2019. He acquired 7
light goods vehicle on 27-6-2019. He sold 2 light goods vehicles on
31-5-2019. He has brought forward business loss of Rs. 50,000
relating to A.Y. 2016-17 of a discontinued business. Assuming that he
opts for presumptive taxation of income as per section 44AE, compute
his total income chargeable to tax.
(4 marks)
Bala sold his vacant site on 30-09-2019 for Rs. 12,00,000. It was
acquired by him on 01-10-1998 for Rs. 1,50,000. The fair market value
on 01-04-2001 is Rs. 1,80,000. The State stamp valuation authority fixed
the value of the site at the time of transfer at Rs. 12,60,000. Compute
income under the head capital gains in the hands of Bala and give your
reasons for computation. (4 marks)
During the ﬁnanci.al year 2019-20, the following payments/ expenditure
were made/incurred by Mr. Yuvan Raja, a resident individual (whose
turnover during the year ended 31-3-2019 was Rs
99 lakhs):
i) Interest of Rs. 12,000 was paid to Rehman & Co., a resident
partnership firm, without deduction of tax at source.
ii) Interest of Rs. 4,000 was paid as interest to Mr. R.D. Burman, a
non resident without deduction of tax at source;
iii) Rs. 3,00,000 was paid as salary to a resident individual without
deduction of tax at source;
iv) He had sold goods worth Rs. 5 lakhs to Mr. Deva. He gave Mr.
Deva a cash discount of Rs. 12,000 later. Commission of Rs.
20,000 was paid to Mr. Vidyasagar on 02-7-2019. In none of
these transactions, tax was deducted at source.
Contd...6
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Briefly discuss whether any disallowance arises under the provisions of
Section 40(a)(i)/40(a)(ia) of the Income-tax Act, 1961

(8 marks)
b) Determine the total income of Mr. Chand from the following information:
Particulars Rs.

i) Interest received on enhanced compensation (It relates to | 40,000
transfer of land in the financial year 2011-12. Out of the
above Rs. 65,000 relates to financial 2019-20 and the
balance relates to preceding years)

i) Busines loss relating to discontinued business of the A.Y. 1,50,000
2014-15 brought forward and eligible for set-off

iii) Current year business income (i.e., financial year 2019- 1,10,000

20) (Computed)

(4 marks)
c) X transfers the following long-term capital assets -
Capital Date of Full value Indexed cost Investment
Asset transfer of Consideration | of acquisition | in NHAI/REC
Bonds (date
of investments)
Land 03-04-2019 | Rs. 95 lakhs Rs. 40 lakhs Rs. 40 lakh (01-09-
2019
Commercial | 05-11-2019 | Rs. 65 lakhs Rs. 20 lakhs Rs. 40 lakh (01-04-
house 2020)
Find out exemption under section 54EC and taxable capital gain for AY
2020-21 (4 marks)
SECTION -D
Answer the following: Compulsory (10)

V Ltd, engaged in manufacture of pesticides, furnishes the following

particulars relating to its manufacturing unit at Chennai for the year ended
31.03.2020.

.| Particulars Rs. in lacs.
Opening WDV of Plant and Machinery 20
New machinery purchased on 01.09.2019 10
New car purchased on 01.12.2019 8
Computer purchased on 03.01.2020

Additional Information:
> All assets were put to use immediately.
» Computer has been installed in the office.
> During the year ended 31.03.2019, a new machinery had been
purchased on 31.10.2018, for Rs. 10,00,000. Additional depreciation
besides normal depreciation had been claimed thereon.
Compute the depreciation available to the assessee as per the provisions of
the IT Act 1961 and the WDV of different blocks of assets as on 31.03.2020.
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St Aloysius College (Autonomous)
Mangaluru
B.Com. Vocational Semester III - Degree Examination
February 2021
COST AND MANAGEMENT ACCOUNTING - I

Time: 3 hrs. Max Marks: 100
SECTION - A

Answer any FIVE questions of the following:
1. State the bases of apportionment of following overhead cost:

(i) Lighting expenses (light)
(ii)  Air- conditioning
Differentiate between cost control and cost reduction

(5x2=10)

Explain and two methods of costing
Differentiate between Bin card and stores ledger
Explain Job costing.

What are the advantages of cost accounting?

NouswN

Explain LIFO method of costing in valuation of material.
SECTION - B

Answer any FOUR questions of the following: (4x12=48)

8. What do you understand by ABC analysis of inventory control? A factory uses
4000 varieties of inventory. In terms of inventory holding and inventory
usage, the following information is compiled:

96.875 20 5

110 2.750 30 10
15 0.375 50 85
4000 100 100 100

Classify the items of inventory as per ABC analysis with reasons.
A company uses three raw materials A, B and C for a particular product for

0.30

10,000 | 0.15 2 3 4 2.00
Weekly production varies from 175 to 225 units, averaging 200 units of the
said product. What would be the following quantities?

(a) Minimum stock of A

(b) Maximum stock of B
(c) Re-order level of C

(d) Average stock level of A.
Contd...2
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required to calculate the remuneration of the worker on the following basis:

(a) Rowan plan
(b) Halsey plan
Name of worker X
Ticket no 002
Work started 1.4.11 at 8 a.m.
Work finished 5.4.11 at 12 noon
Work allotted Production of 2160 units

Time and units
allowed

Work done and

Zporoved 0 |

Wage rate

Bonus

40 units per hour

2000 units

225 per hour
40% of time saved

Worker X worked 9 hours a da
———— 2 WOrked 9 hours a day

these production departments using the “Step Ladder Method” of
distribution. Estimates of factory overhead costs to be incurred by each
department in the forthcoming year are as follows. Data required for
distribution is also shown against each department:

‘Department: Direct labour | “No. of

C S N o, 2 o hours: | emblov
Productions

X 1,93,000 4,000 100 3,000
Y 64,000 3,000 125 1,500
Z 83,000 4,000 85 1,500
Services

P 45,000 1,000 10 500
Q 75,000 5,000 50 1,500
R 1,05,000 6,000 40 1,000
S 30,000 3,000 50 1,000

The overhead costs of the four service departments are distributed in the

same order, viz., P, Q, R and S res ectively on the following basis:

;:Depa'rtments’;“»r"""-t-a.s}w"'«%?B'asis-‘*.’ ;
P Number of employees
Q Direct labour hours

R Area in square meters

S Direct labour hours

You are required to:

(a) Prepare a schedule showing the distribution of overhead costs of the
four service departments to the three production departments.

(b) Calculate the overhead recovery rate per direct labour hour for each of

the three production departments

MST Limited has collected the following data for its two activities. It
calculates activity cost rates based on cost driver capacity.

l-_i\ctiVity Cost Driver Capacity | Cost

Power Kilowatt hours 50,000 kilowatt | 2,00,000
hours

Quality Number of 10,000 Inspection | 3,00,000

inspections inspections
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The company makes three products M, S and T. For the year ended March
31, 20X4, the following consumption of cost drivers was reported:

G e T
Kllowatt Quallty i
“hours ,Inspectlons_h S
10,000 3,500
20,000 2,500
15,000 3,000

Required:
(a) Compute the costs allocated to each product from each activity.

(b) Calculate the cost of unused capacity for each activity

Discuss the factors the management considers in choosing a capacity
level to compute the budgeted fixed overhead cost rate.

13. From the details given below, calculate:
(a) Re-ordering Level
(b) Maximum Level
(c) Minimum Level
(d) Danger Level
Re-ordering quantity is to be calculated on the basis of the following
information:
& Cost of placing a purchase order is 20
@ No. of units to be produced during the year is 5000
& Purchase price per unit inclusive of transportation cost is 50
& Annual cost of storage per unit is ¥5
& Details of Lead Time: Average - 10 days
Maximum - 15 days
Minimum - 5 days
For emergency purchases - 4 days
@ Rate of consumption: Average - 15 units per day

Maximum -20 units per day
SECTION - C
Answer any TWO questions of the following: (2x16=32)
14. M/s Bansals Construction Company Ltd. took a contract for 60,00,000
expected to be completed in three years. The following particulars relating to

the contract are available:

AL R IR
Materlals 6 75 000 10,50,000 9,00,000
Wages 6,20,000 9,00,000 7,50,000
Cartage 30,000 90,000 75,000
Other expenses 30,000 75,000 24,000
Cumulative work certified [13,50,000 45,00,000 60,00,000
Cumulative work 15,000 75,000 ---
uncertified
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Plant costing ¥3,00,000 was bought at the commencement of the contract,
Depreciation was to be charged at 25% per annum on the written down
value method. The contractee pays 75% of the value of work certified as and
when certified and makes the final payment on completion of the contract.

You are required to make a contract account as they would appear in each of

the three years. Also show how the work-in-progress and other items should
appear in the balance sheet.
15,

Hourly rate of wages (guaranteed)
Average time for producing one unit by
one worker at the previous performance
(This may be taken as time allowed)
Number of working days in the month
Number of working hours per day of each worker
Actual production during the month
Calculate the effective rate of earnings under the Halsey scheme and Rowan
scheme

16. AT Ltd. furnishes the following stores transactions for September, 2016

01.09.16 Opening balance 25 Units value ¥162.50
04.09.16 | Issues Req.No.85 | 8 units
06.09.16 Receipts from B &Co. GRNNO.26 50 Units @ 5.75 per unit
07.09.16 | Issues Req. No. 97 12 Units
10.09.16 | Returns to B & Co. 10 units
12.09.16 | Issues Req. No. 108 15 units
13.09.16 | Issues Req. No. 110 20 units ﬁ{
15.09.16 | Receipts from M & Co. GRN NO. 33 25 units @6.10 per unit
17.09.16 | Issues Req. No 121 10 units
19.09.16 | Received replacement from B& Co. GRN No. 38 | 10 units
20.09.16 | Returned from department material of M& Co. | 5 units
MRN No.4
22.09.16 | Transfer from Job 182 to 187 in the dept. MTR 6 | 5 units
26.09.16 | Issyes Req. No. 146 10 units
29.09.16 | Transfer from department “A” to department “B” | § units
MTR 10
30.09.16 Shortage in stock taking 2 units
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Write up the priced stores ledger on FIFO method and discuss how you would
treat the shortage in stocktaking
SECTION -D
Answer the following: Compulsory
17. Calculate Machine Hour Rate from the following particulars:

(10)

Cost of Machine Z25,00,000
Salvage Value Z1,25,000
Estimated life of the machine 25,000 hours
Working hours (per annum) 3,000 hours
Hours required for maintenance 400 hours
Setting-up time required 8% of actual working hours

Additional Information:
@ Power 25 units @ ¥5 per unit per hour.
@ Cost of repairs and maintenance ¥26000 per annum.
@ Chemicals required for operating the machine ¥2,600 per
month.
@ Overheads chargeable to the machine 18,000 per month.
@ Insurance Premium (per annum) 2% of the cost of the

machine.
@ No. of operators - 02 (looking after three other machines also).

@ Salary per operator per month ¥18,500.
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